Assignment 2 Solutions

1. A. a) Negative
b) Postive
c) Negative

B. a) 1111

b) 0110
c) 0111

C. a) 1001 

b) 1111
c) 0111

D. a) 1001 no overflow
b) 0111 overflow 
c) 1110 no overflow 


d) 0001 no overflow

2. The Martians have 13 fingers.  The expression 5x² -50x + 125 = 0 is true for x = 8 in the base 13 number system.  On Earth, we primarily use the base 10 number system, and have 10 fingers, so it is logical to assume the Martians have 13 fingers.

3. a) -1*27 + 0*9 + 0*3 + 1 = -26

b) 30 = 27 + 3, so XYXY

   -30 = -27 – 3, so ZYZY

c) The numbers from -40 to +40 can be represented, to 81 values are possible.

d) In the Venetian system, MAX is 27+9+3+1, or 40.  All integers between 0 and 40 

can be represented in this system.  Also, all integers from 0 to -40 can be 


represented as well.

4. a) 1 byte character

b) char *pResults = 4 byte pointer

 
char byArray[] = 4 byte pointer

 
int pos = 4 byte integer

c) byArray[pos] = *(pResults + pos);

5.   Assuming type long is 4 bytes.
	Address
	Each column is one byte. Thus, a row is a double word. 
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i. 28 bytes
ii. 0X30001010    iii. g=a -> g=0x30001000, g=&a[5] -> g= 0x30001005

6. i. ACAE
ii. b = 32

